
 









Up-front income tax relief on individual pension contributions 





Up-front income tax and tax credit relief on individual pension 

contributions, one-earner family with two children aged below 65 







Yi = α+β1(Xi-c)+               τIi+γ1(Xi-c)Ii+                      εi 

Yi = α+β1(Xi-c)+β2(Xi-c)2+τIi+γ1(Xi-c)Ii+γ2(Xi-c)Ii
2+      εi 

Yi = α+β1(Xi-c)+               τIi+γ1(Xi-c)Ii                        +θZi+εi

Yi = α+β1(Xi-c)+β2(Xi-c)2+τIi+γ1(Xi-c)Ii+γ2(Xi-c)Ii
2+θZi+εi



Linear  

Quadratic  



















H = £20,000 H = £10,000 H = £4,000 

τ 0.023 0.021 0.014 

(0.014) (0.013) (0.021) 

γ1 0.004 -0.002 0.018 

(0.007) (0.005) (0.018) 

γ2 0.001 

(0.001) 

Characteristics    

Income specification Quadratic Linear Linear 

Equation B A A 

N 34,697 16,278 6,339 



H = £20,000 H = £10,000 H = £4,000 

τ 0.023 0.021 0.021 0.022* 0.014 0.015 

(0.014) (0.014) (0.013) (0.013) (0.021) (0.020) 

γ1 0.004 0.002 -0.002 -0.002 0.018 0.013 

(0.007) (0.006) (0.005) (0.005) (0.018) (0.018) 

γ2 0.001 0.001 

(0.001) (0.001) 

Characteristics       

Income specification Quadratic Quadratic Linear Linear Linear Linear 

Equation B D A C A C 

N 34,697 34,673 16,278 16,267 6,339 6,334 











H = £20,000 H = £10,000 H = £4,000 

τ 0.034*** 0.031*** 0.032** 0.031*** 0.036* 0.034 

(0.014) (0.014) (0.013) (0.013) (0.021) (0.021) 

γ1 0.001 0.000 -0.002 -0.001 -0.002 -0.007 

(0.007) (0.007) (0.005) (0.005) (0.019) (0.018) 

γ2 0.001* 0.001** 

(0.001) (0.001) 

Characteristics       

Income specification Quadratic Quadratic Linear Linear Linear Linear 

Equation B D A C A C 

N 34,015 33,993 15,893 15,882 6,185 6,179 



τ (std err) Test threshold: 

HRT+£10k HRT - £10k HRT + £5k HRT - £5k 

H = £20k (model D) -0.005 -0.003 0.016 -0.003 

(0.021) (0.010) (0.016) (0.011) 

H = £10k (model C) -0.001 -0.006 0.016 0.000 

(0.019) (0.009) (0.016) (0.011) 

H = £4k (model C) 0.015 -0.006 0.052** 0.021 

(0.031) (0.015) (0.024) (0.017) 

H = £20k (model D) -0.029 0.000 0.007 -0.004 

(0.021) (0.010) (0.017) (0.011) 

H = £10k (model C) -0.018 -0.001 0.010 0.004 

(0.020) (0.009) (0.016) (0.011) 

H = £4k (model C) -0.008 0.004 0.045* 0.019 

(0.032) (0.015) (0.025) (0.017) 



H = £20,000 (model D) H = £10,000 (model C) 

τ Std err N τ Std err N 

All 0.031** 0.014 33,993 0.031* 0.013 15,882 

Male 0.022 (0.017) 23,328 0.030 (0.016) 11,101 

Female 0.050** (0.023) 10,665 0.040* (0.022) 4,781 

Single 0.049 (0.032) 7,021 0.041 (0.030) 3,167 

Couple 0.027* (0.015) 26,972 0.030** (0.014) 12,715 

Aged 22-39 0.039* (0.023) 15,107 0.045** (0.022) 6,832 

Aged 40-59 0.025 (0.017) 18,886 0.020 (0.016) 9,050 

Low education 0.022 (0.027) 11,508 0.021 (0.025) 5,014 

Mid education 0.036 (0.030) 7,669 0.034 (0.028) 3,535 

High education 0.033* (0.019) 14,816 0.036** (0.017) 7,333 











Those in a pension 

τ  -0.135 -0.399 1.618 

(0.743) (1.108) (1.722) 

γ1 -0.124 0.373 1.209 

(0.141) (0.445) (1.448) 

Characteristics    

Model C C C 

Sample bandwidth £20,000 £10,000 £4,000 

N 26,461 12,494 4,840 



Those in a pension All individuals 

τ  -0.135 -0.399 1.618 0.350 0.981 2.874* 

(0.743) (1.108) (1.722) (0.705) (1.028) (1.598) 

γ1 -0.124 0.373 1.209 -0.183 0.269 0.725 

(0.141) (0.445) (1.448) (0.133) (0.401) (1.366) 

Characteristics       

Model C C C C C C 

Sample bandwidth £20,000 £10,000 £4,000 £20,000 £10,000 £4,000 

N 26,461 12,494 4,840 33,993 15,882 6,179 







H = £20,000 H = £10,000 H = £4,000

τ 0.045* 0.039* 0.010 

(0.023) (0.022) (0.035) 

γ1 -0.003 -0.007 -0.034 

(0.011) (0.008) (0.031) 

γ2 0.001 

(0.001) 

Characteristics    

Income specification Quadratic Linear Linear 

Equation D C C 

N 14,585 6,838 2,630 







Those in a pension 

τ  0.720 0.838 -0.546 

(0.788) (1.104) (1.694) 

γ1 -0.147 -0.558 3.051** 

(0.148) (0.381) (1.500) 

Characteristics    

Model C C C 

Sample bandwidth £20,000 £10,000 £4,000 

N 9,421 4,465 1,745 



Those in a pension All individuals 

τ  0.720 0.838 -0.546 1.214* 1.478* -0.637 

(0.788) (1.104) (1.694) (0.635) (0.891) (1.395) 

γ1 -0.147 -0.558 3.051** -0.189 -0.368 2.122* 

(0.148) (0.381) (1.500) (0.117) (0.303) (1.227) 

Characteristics       

Model C C C C C C 

Sample bandwidth £20,000 £10,000 £4,000 £20,000 £10,000 £4,000 

N 9,421 4,465 1,745 14,585 6,838 2,360 







 


